TCO—-—W-HMmMm— »0wUO-—-—mMIUTOZMXu X =
W —4AN>»CO«CCUOO0OXTUTT>»IZTS S X
O T oTCwmMmMmUTWMWZOU—0OX-—-—< mMmoOwmwT

YO IR

YO DAR

YO TRAER

USTED IR

YO ANDAR

YO HACER

USTED VER

YO QUERER

TU VENIR
USTEDES IR
USTED TENER
USTED HACER
USTED ANDAR
USTEDES DAR
NOSOTROS DAR
TU CONDUCIR
USTEDES PONER
NOSOTROS PODER
USTED CONDUCIR
NOSOTROS TENER
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TUIR

TU DAR

YO DECIR

YO VENIR

YO PONER

TU ANDAR

USTED DAR

TU TENER

TU PODER
VOSOTROS IR
USTED PONER

YO PRODUCIR
USTED PODER
NOSOTROS IR
USTED QUERER
VOSOTROS DAR
USTEDES TENER
NOSOTROS HACER
USTED PRODUCIR
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YO VER

TU VER

YO SABER

YO TENER

YO PODER

TU PONER

TU TRAER

TU SABER

TU QUERER
USTED SABER
USTED DECIR
USTED VENIR
USTEDES VER
USTED TRAER
NOSOTROS VER
VOSOTROS VER
USTEDES DECIR
NOSOTROS ANDAR
VOSOTROS PODER
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